
𝜃13
12

5

𝑠𝑖𝑛𝜃 = 𝑐𝑜𝑠𝜃 = 𝑡𝑎𝑛𝜃 =𝑠𝑒𝑐𝜃 =
𝑐𝑠𝑐𝜃 = 𝑐𝑜𝑡𝜃 =

𝑠𝑖𝑛14଴ =

tan(−240଴) =

𝑠𝑖𝑛1.7 =

cos
π

6
⎯⎯=

tan(3𝜋) =

𝑇𝑦𝑝𝑒 𝑖𝑛 𝐶𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑜𝑟 (𝐷𝑒𝑔𝑟𝑒𝑒𝑠 𝑜𝑟 𝑅𝑎𝑑𝑖𝑎𝑛𝑠)

𝐹𝑖𝑛𝑑 𝜃 𝑖𝑛 𝐷𝑒𝑔𝑟𝑒𝑒𝑠

𝑠𝑖𝑛𝜃 =
3

8
⎯⎯

𝑐𝑜𝑠274଴ =

𝑐𝑜𝑡𝜃 = 5

𝑠𝑒𝑐105଴ =𝑐𝑠𝑐25଴ = 𝑐𝑜𝑡150଴ =

sec ቆ
2

7
⎯⎯ቇ =𝑐𝑠𝑐5.9 = 𝑐𝑜𝑡0.6 =

𝑠𝑖𝑛60଴ =

𝑐𝑜𝑠2𝜋 =

𝐹𝑖𝑛𝑑 𝜃 𝑖𝑛 𝑅𝑎𝑑𝑖𝑎𝑛𝑠

𝑠𝑒𝑐𝜃 =
7

3
⎯⎯

𝑐𝑜𝑠𝜃 = 0.9

C12 - 4.3 - Find Ratio/Type in Calc HW
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𝐷𝑟𝑎𝑤 2 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒𝑠 𝑖𝑛 𝑡ℎ𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡𝑠 𝑓𝑜𝑟 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑠𝑡𝑎𝑡𝑒𝑚𝑒𝑛𝑡𝑠

cos𝜃 > 0 𝑎𝑛𝑑 sin 𝜃 < 0 cos𝜃 < 0 𝑎𝑛𝑑 tan 𝜃 > 0 𝑡𝑎𝑛𝜃 > 0 𝑎𝑛𝑑 sin 𝜃 > 0

cos𝜃 < 0 𝑎𝑛𝑑 sin 𝜃 < 0 cos𝜃 < 0 𝑎𝑛𝑑 tan 𝜃 < 0 𝑡𝑎𝑛𝜃 < 0 𝑎𝑛𝑑 sin 𝜃 > 0

cos𝜃 > 0 tan 𝜃 > 0 sin 𝜃 > 0

cos𝜃 < 0 tan 𝜃 < 0 sin 𝜃 < 0

𝐷𝑟𝑎𝑤 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑖𝑛 𝑡ℎ𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡 𝑓𝑜𝑟 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑠𝑡𝑎𝑡𝑒𝑚𝑒𝑛𝑡𝑠

C12 - 4.3 - ASTC 𝐻𝑊
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0 , 2𝜋𝜋

𝐴𝑆

𝑇 𝐶

0 , 2𝜋𝜋

𝐴𝑆

𝑇 𝐶

0 , 2𝜋𝜋

𝐴𝑆

𝑇
𝐶

0 , 2𝜋𝜋

𝐴𝑆

𝑇 𝐶

0 , 2𝜋𝜋

𝐴𝑆

𝑇
𝐶

0 , 2𝜋𝜋

𝐴𝑆

𝑇 𝐶

C12 - 4.3 - Draw ௦௧௣
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𝑆𝑜𝑙𝑣𝑒

𝑐𝑜𝑠
𝜋

6
⎯⎯=

𝑠𝑖𝑛
𝜋

3
⎯⎯=

𝑡𝑎𝑛
𝜋

4
⎯⎯=

𝑠𝑖𝑛
2𝜋

3
⎯⎯⎯=

𝑠𝑖𝑛
4𝜋

3
⎯⎯⎯=

𝑠𝑖𝑛
5𝜋

3
⎯⎯⎯=

𝑠𝑖𝑛
5𝜋

6
⎯⎯⎯=

𝑡𝑎𝑛
7𝜋

6
⎯⎯⎯=

𝑠𝑖𝑛
11𝜋

6
⎯⎯⎯⎯=

𝑐𝑜𝑠
3𝜋

4
⎯⎯⎯=

𝑡𝑎𝑛
5𝜋

4
⎯⎯⎯=

𝑡𝑎𝑛
7𝜋

4
⎯⎯⎯=

C12 - 4.3 - Solve ? 
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𝑠𝑖𝑛𝑥 =
1

2
⎯⎯

𝑐𝑜𝑠𝑥 =
1

2
⎯⎯

𝑠𝑖𝑛𝑥 =
1

√2
⎯⎯ ⎯⎯⎯

𝑠𝑖𝑛𝑥 =
√3

⎯⎯ 

2
⎯⎯⎯

𝑐𝑜𝑠𝑥 =
√3

⎯⎯ 

2
⎯⎯⎯

𝑐𝑜𝑠𝑥 =
√2

⎯⎯ 

2
⎯⎯⎯

𝑡𝑎𝑛𝑥 = 1

𝑡𝑎𝑛𝑥 =
1

√3
⎯⎯ ⎯⎯⎯𝑡𝑎𝑛𝑥 = √3

⎯⎯ 
 

𝑠𝑖𝑛𝑥 = −
1

2
⎯⎯

𝑐𝑜𝑠𝑥 = −2𝑠𝑖𝑛𝑥 = −
1

√2
⎯⎯ ⎯⎯⎯

𝑠𝑖𝑛𝑥 = −
√3

⎯⎯ 

2
⎯⎯⎯𝑐𝑜𝑠𝑥 = −

√3
⎯⎯ 

2
⎯⎯⎯

𝑐𝑜𝑠𝑥 = −
1

√2
⎯⎯ ⎯⎯⎯ 𝑡𝑎𝑛𝑥 = −1

𝑡𝑎𝑛𝑥 = −
1

√3
⎯⎯ ⎯⎯⎯

𝑡𝑎𝑛𝑥 = −√3
⎯⎯ 

 

𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥, 0 ≤ 𝑥 < 2𝜋, 𝑎𝑛𝑠𝑤𝑒𝑟 𝑠ℎ𝑜𝑢𝑙𝑑 𝑠𝑎𝑦 𝑥 =

*rationalize

C12 - 4.3 - Solve sinx=ଵ

ଶ
HW
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𝑠𝑖𝑛𝑥 = 0.6

𝑐𝑜𝑠𝑥 = 2𝑠𝑖𝑛𝑥 = −0.4

𝑠𝑖𝑛𝑥 =
1

3
⎯⎯

𝑐𝑜𝑠𝑥 = 0.75

𝑐𝑜𝑠𝑥 =
1

4
⎯⎯

𝑡𝑎𝑛𝑥 =
4

5
⎯⎯

𝑡𝑎𝑛𝑥 =
1

5
⎯⎯

𝑡𝑎𝑛𝑥 = 0.35

𝑠𝑖𝑛𝑥 = −0.1

𝑐𝑜𝑠𝑥 = −0.65

𝑠𝑖𝑛𝑥 = −0.8

𝑠𝑖𝑛𝑥 = −
2

3
⎯⎯𝑐𝑜𝑠𝑥 = −0.5

𝑐𝑜𝑠𝑥 = −
1

5
⎯⎯

𝑡𝑎𝑛𝑥 = −2

𝑡𝑎𝑛𝑥 = −0.866

𝑡𝑎𝑛𝑥 = −0.707 

𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥, 0 ≤ 𝑥 < 2𝜋, 𝑎𝑛𝑠𝑤𝑒𝑟 𝑠ℎ𝑜𝑢𝑙𝑑 𝑠𝑎𝑦 𝑥 =

C12 - 4.3 - HW
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𝑆𝑂𝐻 𝐶𝐴𝐻 𝑇𝑂𝐴

Find all 6 trig functions for the following points. And Find the Reference Angle and Angle in Standard Position.

(4,3)

(−3,4)

(−5,12)

(2,3)

(5, −6)

𝑠𝑖𝑛𝑥 = 

𝑐𝑜𝑠𝑥 =

𝑡𝑎𝑛𝑥 =

𝜃௥ =

θ௦௧௣ =

𝑐𝑠𝑐𝑥 =

𝑠𝑒𝑐𝑥 =

𝑐𝑜𝑡𝑥 =

𝑠𝑖𝑛𝑥 = 

𝑐𝑜𝑠𝑥 =

𝑡𝑎𝑛𝑥 =

𝜃௥ =

θ௦௧௣ =

𝑐𝑠𝑐𝑥 =

𝑠𝑒𝑐𝑥 =

𝑐𝑜𝑡𝑥 =

𝑠𝑖𝑛𝑥 = 

𝑐𝑜𝑠𝑥 =

𝑡𝑎𝑛𝑥 =

𝜃௥ =

θ௦௧௣ =

𝑐𝑠𝑐𝑥 =

𝑠𝑒𝑐𝑥 =

𝑐𝑜𝑡𝑥 =

𝑠𝑖𝑛𝑥 = 

𝑐𝑜𝑠𝑥 =

𝑡𝑎𝑛𝑥 =

𝜃௥ =

θ௦௧௣ =

𝑐𝑠𝑐𝑥 =

𝑠𝑒𝑐𝑥 =

𝑐𝑜𝑡𝑥 =

𝑠𝑖𝑛𝑥 = 

𝑐𝑜𝑠𝑥 =

𝑡𝑎𝑛𝑥 =

𝜃௥ =

θ௦௧௣ =

𝑐𝑠𝑐𝑥 =

𝑠𝑒𝑐𝑥 =

𝑐𝑜𝑡𝑥 =

C12 - 4.3 - Point Trig Ratio HW
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𝑐𝑠𝑐
𝜋

6
⎯⎯=

𝑐𝑜𝑡
𝜋

3
⎯⎯=

𝑐𝑜𝑡
𝜋

4
⎯⎯=

𝑐𝑜𝑡
2𝜋

3
⎯⎯⎯=

𝑠𝑒𝑐
4𝜋

3
⎯⎯⎯=

𝑠𝑒𝑐
5𝜋

3
⎯⎯⎯=

𝑐𝑜𝑡
5𝜋

6
⎯⎯⎯=

𝑐𝑠𝑐
7𝜋

6
⎯⎯⎯=

𝑠𝑒𝑐
11𝜋

6
⎯⎯⎯⎯=

𝑠𝑒𝑐
3𝜋

4
⎯⎯⎯=

𝑠𝑒𝑐
5𝜋

4
⎯⎯⎯=

𝑐𝑠𝑐 
7𝜋

4
⎯⎯⎯=

Solve

C12 - 4.3 - Solve 
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𝑠𝑒𝑐𝑥 = 2

𝑐𝑠𝑐𝑥 = 2

𝑠𝑒𝑐𝑥 =
1

√2
⎯⎯ ⎯⎯⎯

𝑐𝑠𝑐𝑥 =
√3

⎯⎯ 

2
⎯⎯⎯

𝑐𝑠𝑐𝑥 =
√3

⎯⎯ 

2
⎯⎯⎯

𝑐𝑜𝑡𝑥 = √3
⎯⎯ 

𝑐𝑜𝑡𝑥 = 1

𝑐𝑜𝑡𝑥 = −√3
⎯⎯ 

𝑠𝑒𝑐𝑥 = −√2
⎯⎯ 

𝑐𝑠𝑐𝑥 = −2𝑠𝑒𝑐𝑥 = −2

𝑠𝑒𝑐𝑥 = −
√3

⎯⎯ 

2
⎯⎯⎯𝑠𝑖𝑛𝑥 = −

√3
⎯⎯ 

2
⎯⎯⎯

𝑐𝑠𝑐𝑥 = −
1

√2
⎯⎯ ⎯⎯⎯ 𝑐𝑜𝑡𝑥 = −1

𝑐𝑜𝑡𝑥 = −
1

√3
⎯⎯ ⎯⎯⎯

𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥, 0 ≤ 𝑥 < 2𝜋, 𝑎𝑛𝑠𝑤𝑒𝑟 𝑠ℎ𝑜𝑢𝑙𝑑 𝑠𝑎𝑦 𝑥 =

C12 - 4.3 - Solve cscx= HW
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